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ELMAVAN 3D WAVEFORMS (Measured data sampled at 50 kHz) 498 packets of 144 samples from 2018-08-13T01:59:13.933.000. Part 1/2

Processed Mon Aug 13 04:00:08 2018 by ELM ver.2012-10-06 from 001__elm20180813_015912__dat00.bin

Power spectra
aul aul aul aul

: 1 1 1 1 : 50
2000—: L @ 40 -
0 bl i N L ! | N | L I\ i - 1 bt 30 4
: T T LI w T T Al T T 1 1l T T “ T |' LI ) %’ 20 |
-2000 4 E <
] ¥ A 104
-4000 : I I I I I I I I I I I I I I I L 0
6000 3 E-
4000 3 3 )
2000 3 2 =2
OE _&_.\l I |l| __Ilr. " " II _i_'Lr'ui " L i L I. 11l. 4:_}11. o
-2000 3 T i T 3 Q;?
-4000 3 2
-6000 b I I I I I I I I I I I I I I I &
10000 7 r
5000 3 )
: l L i . . e o . B, " B
04 !‘h T H i T Il ' T T AL %% Tl“ LA %
] ; o
-5000 H -
50
g __ 40
> 3
g 5 30
()
w 10
60
= 50
£ 2
> T 40
g =
g % 30
8 T
T 20
10
60
= 50
£ 2
> o 40
8 2 30
g c
2 20
[
10

0.0

0.2

0.4 0.6 0.8
Time (s) from 2018-08-13T01:59:13.933.000

100 10° 10° 10*
Frequency (Hz)

Channel 0
mn: -4168
mx: 3601
W -2.5
0:47.4

Channel 1
mn: -6184
mx: 7547
u:-11.8
o:117.0

Channel 2
mn: -6765
mx: 9615
u:-13.5
0:118.5



